TAHT vame

VIATHS Tani

Circle the Write the Write the Write the Write the
number pairs number that answer answer answer
that make 10 comes next
139 4,3,2, 1+10= 9+2= 7-4=
2 86 54,3, 3+10= 10 + 2= 17-4=
3724 6,5,4, 5+10 = 8+2= 8-4=
4 56 71,6,5, 7+10= 18+2= 18-4=
525 9,8,7, 9+10= 15+5= 15-5=
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WVIATHS rua

Write the Write the Write the Write the Write the

number answer answer answer answer

that comes

next

71,78,79, 57 +10 = 40-10= 10 groups 4 into 2
of 2 groups

66,67,68, 57 +20 = 30-10= 10 groups 2into 2
of3 groups

58,59,60, 57 +40 = 90 - 20 = 10 groups 120f6 =
of4

76,87,88, 67 +10= 80-40= 10 groups 120f4 =
of5

52,53,54, 67 +20 = 70 -30 = 10 groups 1of2=
of 0
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Write the number Write the answer Write the answer Write the answer

that comes next

700 56 + 47 = 76 -49 = 2x10=

699 78 + 39 = 43 -28 = 5x10=

769 67 +39 = 54 -38 = 10x4-=

889 58 + 26 = 87-29 = 5x4-=

959 86 +20= 67 -28 = 2x0=

Write the answer Circle the smallest | Add unit fractions Calculating
fraction gddnabiaclonswithCommen | fractions

50/5 = 17 19 s a +3a =

8/2= 1/10 Va 1/9 %+ s =

10/2 = 1/9 1/10 1/7 33 +5/4 =

10/5 = 17 1/9 % %be%=

40/10 = 1/10 Va 1/9 %6+ 2[6 =
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Write the number that | Write the answer Write the answer Write the
comes next answer
1,000, 583+267 = 567-475 = 3x3-=
1,999, 787+398 = 787-398 = 4x10 =
1,699, 675+396 = 675-396 = 3x4-=
2,998, 567+475 = 583-267 = Bx3=
5,999, 867+209 = 867-209 = 4x0-=
Write the answer Circle the smallest Write the missing

fraction number

9/3= 4/2 8/2 62 99 + =100
21/3 = 2 8/4 5/4 10 + =100
24/4 = 6/3 Vs 24 75 + =100
32/4 = 10/5 8/5 % +80=100
20/4 = % 816 12/6 +25=100
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TAHI

Name:
MATHS rima
Write the answer Write the answer Write the answer Write the
answer
34,567 + 1,000 = 6,667 + 2,344 = 32x1= 8x7-=
98,098 + 10,000 = 5,801 - 4,567 = B5x5= Ox7=
87,002 + 10 = 8,912 - 3,456 = 24x3= 6Xx9=
56,090 + 100 = 3,110 + 1,234 = 52x4= 7x6=
90,901 + 1,000 = 8900 - 3,333 = 42x 3= 8x6=
Write the answer Circle the smallest Draw a picture to Convert
fraction show fraction,
decimal,
a2/ = 2 Y Va 259 nercentage
Open Number
63/7 = a % 2 110 Sentences
54/9 = 12 % 3a 0.5
42/6 = 3a s a
48/6 = 3a 12 % %
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Write the answer Write the answer Write the answer | Write the answer
734,567 +10,000= | 15.12 + 4.88 = 123x3= 6,345/6 =
198,098 +10,000= | 35.6 + 9.6 = 832x4-= 7,345/3 =
787,002 +100,000= | 35.6 - 9.67 = 634x45= 2,343/34 =
356,090 +100,000= | 235.6-9.67= |954x24= 23,465/90 =
90,901 + 10,000 = 3,435.6 -9.67= | 624x 74 = 7,456/82 =
Write the factors Write the Write equivalent | Write the
percentage fractions answer
30 = 1/3= ____% 5/15= /5 25% x 88 =
25 = 2/3=____ %% 3a= J8 50% x 70 =
36= 0.13=____ % 18/21 = 6/ 25% x 40 =
41 = 0.02= _____ % k= M10= /15 |Vax24=
9= 009= % |%= [20= /25 |':x33=

Compare fractions, decimals, percentage
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Write the answer | Write the answer | Write the answer | Write the answer
6.42x 100 = 1,620/12 = 066=___ % |[15+4.838=
6.42 /100 = 2,425/34 = Ta=____ % 15.1+4.838 =
53.24x10 = 216,741/8 = 86% =0.______ |456+3.892=
53.24 /10 = 216,741/84 = 0.45:= / 4.562 + 3.894 =
72.4 /100 = 456/5 = Yaz=_____ % 45.61 + 3.899 =
Write the answer | Write the answer | Simplify the fraction | Write the answer
B+l = 12X 3a = 3/33 = 2-46 =
6/7+7/8= Ya X% = 15/45 = 2-56=

Y+ % = %X 3= 45/90 = -33-20=
g+ 1= YaX Ye= 25/50 = 8-(-32)=
%+% = Yaxs= 45/75 = 5-(-9)=
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